C ONS OL E S

Cable Collar
Installation Instructions

C ONS OL E S

Cable Collar
Installation Instructions

FORTECHNICAL SUPPORT CONTACT TBC CONSOLES: 1-888-266-7653 (support@tbcconsoles.com)

FORTECHNICAL SUPPORT CONTACT TBC CONSOLES: 1-888-266-7653 (support@tbcconsoles.com)




A=

i - 1 CONSOLES

] i
| l i E 170 RODEO DR EDGEWOOD, NY 11717
@ I ] ) i PHONE: 631-293-4068 FAX: 631-293-4075
) @ ° ° Client:
r/\] :
G ;; Iilzl ﬂ 1: i — ; J Project:
: TUBING u‘ A - ' 1 CABLE COLLAR
o B ke o o INSTALLATION INSTRUCTIONS
= BRACKET <
(CAN BE POSITIONED LEFT OR RIGHT) - Drawing Title:
SHOP
D — DRAWING
% —
TR\lns=lt T | Hr—l
;WF E—J ' ‘\|\\ \ r @ "} |CABLE [j |\ @ Design by: TBC
Drawn by:

—

COLLAR ER

L CABLE

- COLLAR

o}

HOLDER 1/

=

Rack Rall Type: 10/32

Plam Spec:

I
|
I
I
I
I
I
\ I Scale: 1|| = 1! - On
|
|
I
|
I
I

\"QOHHQQD'QQ'GOODQ

Plam Spee:

ALL DESIGNS, PLANS, IDEAS &

f SPECIFICATIONS INDICATED IN THIS
| DRAWING REMAIN THE ENTIRE

I

I

I

[6 © s0o o 96 o oo © 00 o 00 o o0 o of

PROPERTY OF TBC CONSOLES INC.
AND MAY NOT BE REPRODUCED OR
USED IN ANY MANNER WITHOUT

|
|

[ o o0 © ©6 & 885 ® s © W

[ © oo o 00 o oo © oo o oo o oo o of
t

.

)y

B J WRITTEN CONSENT.

J CLIENT SIGNATURE APPROVES ALL
SPECIFICATIONS INDICATED IN
THIS DRAWING.

//

|
R —

client: date:

— [J DESIGN PROPOSAL DRAWINGS
STEP ONE:
= CONSTRUCTION DRAWINGS
ATTACH THE TUBING LOCATOR BRACKET TO THE INTELLITRAC BASE USING THE 1/4-20 X 5/8" SILVER SCREWS AND THE M
1/4-20 TWIST & TURN T-NUTS (THIS BRACKET MUST INSERTED INSIDE THE GROOVES OF THE LOWER RAILS)(AS SHOWN) Revisions:
STEP TWO: X %X XX
ONCE THE DESIRED POSITION OF THE TUBING LOCATOR BRACKET IS CHOSEN - TIGHTEN THE 1/4-20 SILVER SCREWS.
STEP THREE:
ATTACH THE CABLE COLLAR HOLDER TO THE TUBING LOCATOR BRACKET USING THE 1/4-20 X 3/4" LOW PROFILE BOLTS.
STEP FOUR:
INSERT THE WOOD CABLE COLLARS INSIDE THE CABLE COLLAR HOLDER.
Filename:

Drawing No:

FOR TECHNICAL SUPPORT CONTACT TBC CONSOLES: 1-888-266-7653 (support@tbcconsoles.com)




	CABLE COLLAR assembly instructions cover
	Cable Collar Assembly Instructions inside pages

